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In Clark-Peterson v. Independent Insurance, the Court found coverage because:
A The doctrine of reasonable expectations

B. Finding a lack of coverage would gut terms explicitly apreed to
C.. The language of the contract was ambiguous and should be construed against the drafter
D. All of the above
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In Shapsrd, the dentist recerved disability in spite of the fact that he still worked at the same office. Three
i61s: (1) Why? and (2) what was could the insurance company have done to avoid this result (while
offering a disability policy)?
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